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System of Equations OV lsell oA

Which of the following best 2 poagall CNalaall Al Caas SY) (e Qgi
describes the system of equations thady) il Ao Slad) Jda

shown in the graph?

>
1




Inconsistent

dependent

Jiiia pey (385

consistent and dependent

Jlaay (31550

consistent and independent



Subtitution oy g=ill

Use substitution to solve the N alaal) ol Ja A (laygail) ardii)
4x + 5y =11

system of equations.
y—3x=-13

4x + 5y =11
y—3x=-13



x=—4y=1

x=—-4y=-1



Elimination w12l

Use elimination to solve the system reialaal) alas Ja 8 Cddal) aadid

2x + 3y = —10

of equations:
5x+3y=-7

2x+3y=-10
5x+3y=-7



x=1,y=4



Elimination using multiplication wrall plaziwl izl

Use elimination to solve the system iealeal) ali o A Cddal) andid
of equations: 6x — 5y =-3

5x+3y =19



x=3,y=2



The Best Method to Solve Equations O\alsall J=J ddy b Juasl

Determine the best method to solve Y alaal) allas Jal 3.5:1 e bl aas
3x+4y =11

the system of equations.

3x +4y =11
y=-2x—-1

y=-2x-1



C_).EJ'I {-\'!J:‘J.uig calal)

Elimination Using Subtraction

< paall iﬂ-’fﬁ_':n:i.hulfi Al

Elimination Using Multiplication

bae.“ ?'l..'l'.:ila.ulrl caald)

Elimination Using Addition

gl
Substitution



Multiplying a Polynomial by a Monomial 1> 431 (6 393> 5,488 ips

Simplify b
3(5x% + 2x — 4) — x(7x% + 2x). .3(5x% +2x — 4) — x(7x* + 2x)



7x3 +13x%2 -1

15x%2 —7x3 +4x -7

13x2 4+ 6x—7x3 — 12

8x%? — 15



Multiplying Binomials ;jpi=Jl Olgd wpbo

Find the product Gpal) gl angl
(B3m +4)(m - 5). .(3m+4)(m-5)



3m? 4+ 15m—1

3m?2 —11m — 20

3m? +4m — 20

2m? + 4m — 20



Special Squares 4o l3)l Dl poll

Find (3x + 4y)2. (3x +4y)? 1y



9x? +
16y?

6x% +
8y?

9x% + 2
4
xy + 16y?

9xZ +1
2xy + 16y*



The Distributive Property g jsill duols

Factor rm + 5n+r + 5. INn+5n+1r+5 Jalgd ) Js



r+5Mm+1)

(r—=5m+1)

(r+5m-1)

(r->5m-1)



Solve Equations of the Form x2+bx+c=0 dapall O3 Sll=all J> x2+bx+c=0

Solve the equation dlalaal) Ja
n? +12n = -32. n?+12n = —32



n=-4 n=-8



Differences of Squares jusiy0 u &4l

Solve the equation. Adalead) Ja
25m? — 49 = 0. .25m? —49=0






Solve Equations of the Form ax2 +bx+c¢ dspuall 313 dga=)l ST Jul=y ax2+bx+c

Factor 2x% 4+ 9x — 18. Jalgd) M 2x2 +9x — 18 s



x+3)(2x—-6)

(2x — 3)(x + 6)

(2x — 6)(x + 3)

2x—-2)(x—9)



Perfect Squares dlalSJl Jlsy o]l

Factor a? + 12a + 36. a?+12a+36 Ja



(a—6)*

(a + 9)?

(a—6)(a+ 6)

(a + 6)?



Simplify Expressions yul=ill loyuwyi

Simplify the expression [(—2xy?)3]2. By bl [(—2xy7)3]?% Jes



64_x6y12

—64 x°y’

64 x°y8

—16 xﬁylz



Multiply Monomials 39121 bl wpo

Simplify the expression RITW-R W ((% azb)z(—zl.b)?')dj;
(Ga?b)*(-4b)*)



4 a’b>

4a3b®

16 a*
b5

4 a*b®



Exponential Equation duwll d>lsall

Solve the equation. Adalaeal) Ja
25%"1 =35, .25*1=5






Scientific Notation gw.alell jLoyill

Evaluate(9.1 x 1075)(5.18 x 102).  .(9.1 x 1075)(5.18 x 102) 4 1
Express the results in scientific cealall e Al daiil e e

nhotation.



4.7138 x 1072

47.138 x 1072

471.38 x 10~>

4.7138 x 1073



Use thé graph below.
Find the y-intercept, and the range.

oL ALl Jial) ardiad

(sl SNy ‘-_:,uj)l'l aaall e &hid'l Jsh 2al

by

|




Aagal) Ladal) HaeY) pues o8 srall (1 ol janall e pdaal) Jsha

The y-intercept is 1, and the range is all positive real humbers.

Aaagall Ladal) 322Y) pran s saall (3 Ll jgaall e phaball Sk

The y-intercept is 3, and the range is all positive real humbers.

Aidal) NeY) aian ga saall (3 ud) jsaal) (ha plaball g

The y-intercept is 3, and the range is all real numbers.

Aidal) Y] aea g8 gaall (1 ubl jsaal) (o plaball Jgha

The y-intercept is 1, and the range is all real numbers.



A college’s tuition has risen 5%
each year since 2000. If the tuition
in 2000 was AED 10, 850, write an
equation for the amount of the

tuition t years after 2000.

Exponential Growth wll gaill

ale S 50 duais ralal) aubel) CRMST Cnd)
ale B adeil) 4Bl cilS 1Y 2000 ol i
<« AED 10,850 <=\ 2000

G Clgia £ oaay adhedl] 4RI alial dlalea S
2000 s



y = 10,850(0.05)t

y = 1(10,850 + 0.05)!

y = 10,850(1 + 0.05)!

y = 10,850(1 — 0.05)t



Simplifying Radical Expressions & 32| jul=ill by

Simplify the expression Jeail) Jal
5 5

2-6 "2-V6



10 + 5V6
2

10 + 5vV6

—2

—10 + 5V6
—_2

10 — 5V6

10 — 46



Operations with Radical Expressions 43 ,32J yul=ill Jo Ollo=ll

Simplify the expression nil) Jalyy
4+/5 + 2+/20. 45 + 2+/20






The area A of a triangle can be
found by the formula 4 = %bh,
where b represents the base and
h is the height. What is the area

of the triangle below?

43 +/5

dasal) aladiul Elial 4 daluwal) alay) (Sas
s i) i b cus <A = —bh
Coliaf Culial) daluse Lo .p a5 Y) 52 h

2V3 +4/5



24 + 35
77
?4‘3@
29
?+3JE

29 + 6V15



Radical Equations & ,izJ| OYV)ls.ll

Solve the equation x —3 =+Vx—1. X—3 =+vVx—1 daaddl Js
Chick your solution. Jall daia (pa (3883



x=-2,x=-5



.Rational Functions dLwuill Jlgall

2
x+2

Identify the asymptotes of the Yy =

function y = ﬁ + 1.

41 Aall Gl Jaghad saa



y = 1 gﬁé'i tTUmbi‘g X = —Zig.uj) :Tum,hi

Vertical asymptote: x = —2 , Horizontal asymptote:y = 1

y=-2 :‘:,.Eﬁi wldilaig x = 1:&‘-"“"3) wylds Jas

Vertical asymptote: x = 1 , Horizontal asymptote:y = —2

x=—2: 8 qyliibigy =1 :u) i

Vertical asymptote: y = 1 , Horizontal asymptote:x = —2

x =2 :gﬁéi i iy Y = —1:aly )i ba

Vertical asymptote: y = —1 , Horizontal asymptote: x = 2



Solve Rational Equations duwuill S\lsall J>

Solve the question. Check the solution. Jall e (38ad L Alalaal) Ja
8 3 8 3
' n->5

n n-5



n =35

n =40



